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I 1 mwn: segmented structures that require all components for validity
a  /7p: all 7 stems and all 7 mn1 are required- per v. 1 — v
i ~1n12272 must be gold and come from one block; if it comes from scraps, invalid; but from other metals — valid
1 Justifying distinction: viv is written re: nwpn; but nwyn (expansive) allows for other metals
(a) Challenge: it also states nwy'n regarding nwpn
(b) Answer: it states nwpn twice (vv. 1, 3) for 112>y
(i) Challenge: ant is also written multiple times (vv. 1,2)
(if) Answer: we require ant ant to teach (v. 2) that only if it is 2nt must the weight be a 733
1. And: only if it is ant are there flowers, cups and o8 (v. 1)
2. Challenge: why not limit non-gold to one stem?
a. Answer: thatisn’t called a nn, it is a VN
3. And: (v. 3) — only if it is gold must it be one block
4. And: 27 occurrence of nwpn limits requirement to NN, excluding cornets (Mx1¥N)
a. Explanation: it must be silver (v. 4) but not one block, as nwpn of n7nn is exclusive
ii #7272 all the 9> made by nwn were valid for his generation and forever, except for naxxn — only for him
1  Source:v.4-7>
(a) Challenge: then 1 should also be invalid for later — v. 5 (19)
(b) Rather: 7> teaches either that he must provide funds or a homiletic lesson in both cases
2 Rather: due to double-mention of 79 in v. 4
iii ~ ~217 before 9oy 27 NN should be gold; silver is valid; inferior metals are disputed (’21 — invalid; »"a» — valid) — all
agree that wood is invalid
1 Support (X217): both learn v191 593 (v. 1); 727 allows for n2ywn nanp; »”2 — any metal
2 Rejection (9012 27): 721 uses V19 Y93 and allows all metals; 271 uses VIY'M "2 and allows all but ceramic
(a) Proof: »21 invalidates n1w '3 made of wood; »”a» validates them
(b) Proof: X121 where »17 allows use of any metals; ”21 — even wood
(c) Further: prohibition of imitating 921 12vn allows for making nmn of 6 or 8 stems, but not other metals
(i) However: he may make it of wood; »"2 disallows, per n111n made by mrnnwn
1. Counter: they made it of tin, then silver, then gold (as they got wealthier)
iv. Description of 7712: 18 mnav high; 22 v»ay (3 on each stem, 4 on central stem); 11 01193 (6+2+3) and 9 wMa (6+3)
1 Allper:vv.6-7
v Homilies: on nn5w’s lamps and the distillation of gold (vv. 8-9); on God showing nwn how to make n7mn (and other
mavn — vv. 10, 13-17) and miraculous manifestation of onan onY (vv. 11-12)
b anre: both nwIs are needed; even one missing letter can invalidate
po2am. all 4 nywia are needed; even one missing letter can invalidate
d sy all 4 consitute one mxn
i Dissent: YRynw’ "1 — they are 4 nnxn
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